	<b>J 22 09 03:26</b> T07 D	EDC	Dev Sves Planning 5306420508 p.2 COMMENTS - LMIS highter ID -09-0714 05/22/09
	PERMIT: 170 SUBMIT: 11/14 NOTE:	180 <u>-</u> /2005	- 1 BUILDG-NEW -1-FMLY STATUS: ISSUED ISSUED: 11/08/2006 - Airady extended once thru 1/8/08
	03/24/09	BLLSK	ONE YEAR APPLIED TO EXPIRATION DATE PER ORD.4796
	11/08/06	BLJXL	CK#3128 RCVD FOR EDCOE RECEIPT #16198 \$4822
	11/08/06	EMDSP	STAND DSGN APPROVED FOR 3 BDRM, PACKT TO BLDG
	10/24/06	EMVZH	ONSITE #4336, WAIVED. REC'D PERC TEST/DESIGN (DUN- CAN 9/26/06. WATER IS WELL (#5132) TO BE DRILLED. TO DRAWER PENDING CURRENT WELL PROD. RPT.
/	10/24/06		APPROVED WITH THE CONDITION THAT NO OAK TREES SHALL BE REMOVED FOR THIS PROJECT.
	10/18/06 INTAKE INSPE		T08 #15 GEN PLAN CHECKLIST PAGE 10 ONLY W/TREE RISCILLA MAXWELL
			1 BUILDING SERVICES/PV PRIORITY: 99
F1	=HELP 2=CLR 3=	=QUT 4=DS	LMC107A SP 5=UPD 6=ADD 7/8=SCROLL S7/8=PREV/NEXT F9=ROUTE 12=X

5

	Dev Sv	vcs Planniı		106420508	p.3	
T05 D		VALUATIO	N - LMIS		(	05/22/09
PERMIT: 170180 SUBMIT: 11/14/2005	- 1	BUILDG-NE ISSUED:	W -1-FN 11/08/200	•== •==•••	ISSUED	
HANDLE AS: N/A					OCCUPANCY	FIRE
SPECIFIC USE		SQ.FT.	COST	VALUATION	GRP TYPE	RATING
DECK		650 X	16.60 =	10790		
DWELLING		1640 X	92.40 =	151536	R3 V	N
GARAGE		484 X	24.30 =	11761		

VALUATION	DATE:	2006-10-26	UPDATED	BY:	BLSRF	TOTAL	VALUATION	174087
F1=HELP 2=CLR	3=QUI	r 4=d 5=U 6	=A 7/8=S0	CRL	S7/8=PREV/	NEXT	F9=COMMENTS	LMC105A 12=EXIT

May 22 U9 U3:36p EUC Dev Svcs Planning 5306420508 P.5   T07 D COMMENTS - LMIS COMMENTS - LMIS 05/22/09
PERMIT: 170358 - 1 BUILDG-NEW -1-FMLY STATUS: ISSUED
SUBMIT: 11/17/2005 NOTE: ISSUED: 11/08/2006 - already Extended Once thru 11/8/08
03/24/09 BLLSK ONE YEAR APPLIED TO EXPIRATION DATE PER ORD.4796
06/19/08 EMTAL RCVD FDP & FEE, APPROVED
06/19/08 EMVZH PER EMCLT REVISION DOES NOT IMPACT SEPTIC DESIGN
05/23/08 BLDAK REVISION 5/6/08- MOVED STRUCTURE ADD GRADING TO PERMIT- APPROVED THIS DATE \$50.00
05/23/08 BLJKG BLDG/GRADING ATTED TO T11, NEW PLAN SHOWS 850 CY OF DIRT BEING DISPLACED. 5/6/08 REV.
05/06/08 BLJXL APPLICATION NEEDS TO BE COMPLETED AND SIGNED FOR REVISION
INTAKE INSPECTOR: ERIN LOFTON
RESPONSIBLE AGENCY: 1 BUILDING SERVICES/PV PRIORITY: 99
GENERAL COMMENTS EXIST ON T13 LMC107A
F1=HELP 2=CLR 3=QUT 4=DSP 5=UPD 6=ADD 7/8=SCROLL S7/8=PREV/NEXT F9=ROUTE 12=X

.

•

May 25 0a 03:32b FDC	Dev Svos Plannin	<b>g</b> 5306420508	p.4	
T05 D	VALUATIO		0	5/22/09
PERMIT: 170358 SUBMIT: 11/17/2005	- 1 BUILDG-NE		ISSUED	
HANDLE AS: N/A SPECIFIC USE DECK	SQ.FT. 436 X	COST VALUATION 16.60 = 7237	OCCUPANCY GRP TYPE	FIRE RATING
DWELLING GARAGE GRADING	1466 X 576 X X	92.40 = 135458 24.30 = 13996 =	R3 V	N

TOTA VALUATION DATE: 2008-06-19 UPDATED BY: BLJRP	L VALUATION	156691
F1=HELP 2=CLR 3=QUIT 4=D 5=U 6=A 7/8=SCRL S7/8=PREV/NEXT	F9=COMMENTS	LMC105A 12=EXIT

May 22 09 03:36p EDC T07 D	Dev Svcs Planning 53064205 COMMENTS - LMIS	508 p.6 hr ID-09-0714-05/22/09
PERMIT: 170298 SUBMIT: 11/16/2005 NOTE:	- 1 BUILDG-NEW -1-FMLY ISSUED: 11/09/2006 - @	STATUS: ISSUED
03/24/09 BLLSK	ONE YEAR APPLIED TO EXPIRATION	11100
03/18/08 SVKSA	THE CORRECT AND NEW ADDRESS =	5041 CENTER REACH RD
02/13/08 SVKSA	DO NOT FINAL UNTIL PERMANENT A SITE PLAN	ADDRESS ISSUED. NEED
04/12/07 BLPFM	WHY IS THE REVISION SHEET STIL	L ON THE PERMIT?
04/10/07 BLLJG	BETSEY MAE GEYLOU HAS VERBAL P JOB PLANS (PER PHONE CALL THIS THOMPSON) *****ATTENTION*****	
	RIN LOFTON 1 BUILDING SERVICES/PV	PRIORITY: 99 LMC107A
F1=HELP 2=CLR 3=QUT 4=D	SP 5=UPD 6=ADD 7/8=SCROLL S7/8=	

.

тау ∠∠ из из:зър и ТО5 D	EDC Dev S	VCS Planning VALUATION		₽•7 C	5/22/09
PERMIT: 170298 SUBMIT: 11/16/2005 HANDLE AS: N/A SPECIFIC USE DECK	- 1	-		ISSUED OCCUPANCY GRP TYPE	FIRE RATING
DWELLING GARAGE		1640 X	92.40 = 151536 $24.30 = 11761$	R3 V	N

VALUATION	DATE: 2006-01-05	UPDATED BY:		VALUATION	173688
F1=HELP 2=CLR	3=QUIT 4=D 5=U 6=	A 7/8=SCRL S	57/8=PREV/NEXT	F9=COMMENTS	LMC105A 12=EXIT

٤